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I 7»mwn: mon for eating 0 1wp improperly:
a 1 eating from n™21 before the donor has recited the declaration (n711222 ®pn)
i jpnr 73 this follows p™, but o'non identify point of 212y at placing the basket before he nam (nnin)
1 Note: this is really w"1’s approach, to which »™ also subscribes
2w’y interprets all of the terms in v. 1, beginning from the end, as expanding the m>an to a new threshold
(a) Reason: all are more severe than v”yn, which may not be eaten outside of walls; blocks follow each
(b) 77 w37 is w1222 — mdn for eating before 1371 Xpn
(i) Reason: o™11321 are 10N than v”yp, as non-0’1n13 may not eat them
1. Block: w"yn is nm; it is prohibited (according to w™) to an MR (Yar=)
()  pmar: onbwy NN — man for eating before 7Nt
(i) Reason: mmn from w”yn, as they require 007 jnn and PR on nNam
1. Block: w"yn is 1N as (if it must be redeemed), requires nMx qoa (WP require 3 MW only)
(d) 9122 132 - man for (1) eating from it after 71
(i) Reason: mnn from p'n%wy NTIN as its sanctity is from birth
1. Block: mn%w1 nTin are 10N, as they require 0201 ,n2no and 07N for 0N
(e) ma¥ 7772 DWRY NRVN — MaN for eating (even after 7”n7r) outside of Nty
(i) Reason: mnn from 33, as they are p"v7p
1. Block: 1131 is 70N, as its sanctity is from birth
(f) 7772 5w — man for eating of it even after 7”071 inside
(i) Reason: n% is 7N from DwWRY NRVN, as it is all burnt up (7793)
1. Block: owRY nRonN generate n793
a. And: all are more 1mnn than n%w, as they are “shared” (nam and people)
(g) Analysis: if so, why is w" praised by X214, since his exegesis is based on all these p1mm o9Yp?
(i) Answer: he was able to invert the order of the text in order to generate his exegetical model
(h) Question: even to those who allow for P10 1n pwnY, we don’t allow 1771 10 NINIR?
(i) Explanation: how can v generate PR based on these pnm pYp?
(if) Suggested answer: he doesn’t really mean to introduce man, just RnYya kMR
1. Challenge: X1 said that a 9t who eats 0% outside gets 5 sets of man
a. Answer: he means “7oR”, not really man
b. Tangent: analysis of the 5 (71, eating N1, DYopY YN, IINY YN, eating before 17n71)
c.  Challenge: why not a 6t — v. 3 (Dn wTp YR 8Y 1)
i.  Answer: only applies to something n»1n> may eat
d. Challenge: why not a 6" — v. 4 — nv'nw outside = narv
i.  Answer: only if it is fit to be eaten inside
e.  Challenge: v. 3 as per 8" — anything that is wTpa 17108 has n" to be eaten
i.  Answer: only if it was ever fit to be eaten 0292
f.  Challenge: v. 4 as per 8" — anything which is 'n% %92 generates man for eating it
i.  Answer: indeed, that is the source for one of ®17's five man
2. Challenge: in our mwn, we ruled that eating from 11132 before ®X1pn > mon
a. Answer:v.2 already prohibits eating these outside of u-, v. 1 is redundant->may infer via vp
b  Eating from n'w1p »w1p (DWRY nRYN) outside of Ny (“D'YHp”)
¢ Eating from '%p o'w1p (0'nYWw) or w"yn outside of city walls of n5w1v
d Breaking a bone of a nva which is v
e  But there are no mpfor: leaving a 7100 noa over until morning (1mm) or breaking a bone of a noa which is xnv
II 7 mwn: (morphed from T1:2° 51N) — dispute wnan/nmin’ 3 about man for keeping mother (analyzed above)
a  nm Y immediate mon
b ©mon: he should send it away and doesn’t get man
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